

①

$$\begin{array}{r} 111 \\ 6 \overline{) 670} \\ \underline{6} \phantom{0} \\ 7 \\ \underline{6} \\ 10 \\ \phantom{0} \underline{6} \\ \phantom{00} 4 \end{array}$$

②

$$\begin{array}{r} 3 \\ 37 \overline{) 138} \\ \underline{111} \\ 27 \end{array}$$

③

$$\begin{array}{r} 6 \\ 54 \overline{) 338} \\ \underline{324} \\ 14 \end{array}$$

④

$$\begin{array}{r} 171 \\ 5 \overline{) 857} \\ \underline{5} \phantom{00} \\ 35 \\ \underline{35} \\ 7 \\ \phantom{0} \underline{5} \\ \phantom{00} 2 \end{array}$$

⑤

$$\begin{array}{r} 5 \\ 53 \overline{) 289} \\ \underline{265} \\ 24 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 27 \overline{) 282} \\ \underline{27} \\ 12 \end{array}$$

⑦

$$\begin{array}{r} 24 \\ 14 \overline{) 341} \\ \underline{28} \phantom{0} \\ 61 \\ \phantom{0} \underline{56} \\ \phantom{00} 5 \end{array}$$

⑧

$$\begin{array}{r} 96 \\ 4 \overline{) 387} \\ \underline{36} \phantom{0} \\ 27 \\ \phantom{0} \underline{24} \\ \phantom{00} 3 \end{array}$$

⑨

$$\begin{array}{r} 18 \\ 8 \overline{) 145} \\ \underline{8} \phantom{00} \\ 65 \\ \phantom{0} \underline{64} \\ \phantom{00} 1 \end{array}$$

①

$$\begin{array}{r} 10 \\ 42 \overline{) 437} \\ \underline{42} \\ 17 \end{array}$$

②

$$\begin{array}{r} 20 \\ 30 \overline{) 623} \\ \underline{60} \\ 23 \end{array}$$

③

$$\begin{array}{r} 32 \\ 25 \overline{) 811} \\ \underline{75} \\ 61 \\ \underline{50} \\ 11 \end{array}$$

④

$$\begin{array}{r} 111 \\ 8 \overline{) 892} \\ \underline{8} \\ 9 \\ \underline{8} \\ 12 \\ \underline{8} \\ 4 \end{array}$$

⑤

$$\begin{array}{r} 18 \\ 43 \overline{) 774} \\ \underline{43} \\ 344 \\ \underline{344} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 212 \\ 4 \overline{) 849} \\ \underline{8} \\ 4 \\ \underline{4} \\ 9 \\ \underline{8} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 121 \\ 3 \overline{) 364} \\ \underline{3} \\ 6 \\ \underline{6} \\ 4 \\ \underline{3} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 4 \\ 49 \overline{) 241} \\ \underline{196} \\ 45 \end{array}$$

⑨

$$\begin{array}{r} 111 \\ 5 \overline{) 555} \\ \underline{5} \\ 5 \\ \underline{5} \\ 5 \\ \underline{5} \\ 0 \end{array}$$

①

$$\begin{array}{r} 111 \\ 6 \overline{) 667} \\ \underline{6} \phantom{0} \\ 6 \phantom{0} \\ \underline{6} \phantom{0} \\ 7 \\ \underline{6} \\ 1 \end{array}$$

②

$$\begin{array}{r} 10 \\ 48 \overline{) 480} \\ \underline{48} \phantom{0} \\ 0 \end{array}$$

③

$$\begin{array}{r} 118 \\ 7 \overline{) 827} \\ \underline{7} \phantom{0} \\ 12 \phantom{0} \\ \underline{7} \phantom{0} \\ 57 \\ \underline{56} \\ 1 \end{array}$$

④

$$\begin{array}{r} 12 \\ 26 \overline{) 321} \\ \underline{26} \phantom{0} \\ 61 \\ \underline{52} \\ 9 \end{array}$$

⑤

$$\begin{array}{r} 66 \\ 5 \overline{) 334} \\ \underline{30} \phantom{0} \\ 34 \\ \underline{30} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 102 \\ 7 \overline{) 715} \\ \underline{7} \phantom{0} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 53 \\ 8 \overline{) 424} \\ \underline{40} \phantom{0} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 10 \\ 22 \overline{) 237} \\ \underline{22} \phantom{0} \\ 17 \end{array}$$

⑨

$$\begin{array}{r} 481 \\ 2 \overline{) 963} \\ \underline{8} \phantom{0} \\ 16 \\ \underline{16} \\ 3 \\ \underline{2} \\ 1 \end{array}$$

①

$$\begin{array}{r} 222 \\ 4 \overline{) 891} \\ \underline{8} \phantom{00} \\ 9 \phantom{00} \\ \underline{8} \phantom{00} \\ 11 \phantom{00} \\ \phantom{00} 8 \phantom{00} \\ \underline{\phantom{00} 8} \phantom{00} \\ \phantom{00} 3 \phantom{00} \end{array}$$

②

$$\begin{array}{r} 111 \\ 7 \overline{) 778} \\ \underline{7} \phantom{00} \\ 7 \phantom{00} \\ \underline{7} \phantom{00} \\ 8 \phantom{00} \\ \phantom{00} 7 \phantom{00} \\ \underline{\phantom{00} 7} \phantom{00} \\ \phantom{00} 1 \phantom{00} \end{array}$$

③

$$\begin{array}{r} 94 \\ 6 \overline{) 568} \\ \underline{54} \phantom{00} \\ 28 \phantom{00} \\ \underline{24} \phantom{00} \\ 4 \phantom{00} \end{array}$$

④

$$\begin{array}{r} 123 \\ 3 \overline{) 371} \\ \underline{3} \phantom{00} \\ 7 \phantom{00} \\ \underline{6} \phantom{00} \\ 11 \phantom{00} \\ \phantom{00} 9 \phantom{00} \\ \underline{\phantom{00} 9} \phantom{00} \\ \phantom{00} 2 \phantom{00} \end{array}$$

⑤

$$\begin{array}{r} 127 \\ 7 \overline{) 889} \\ \underline{7} \phantom{00} \\ 18 \phantom{00} \\ \underline{14} \phantom{00} \\ 49 \phantom{00} \\ \underline{49} \phantom{00} \\ 0 \phantom{00} \end{array}$$

⑥

$$\begin{array}{r} 9 \\ 80 \overline{) 720} \\ \underline{720} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 211 \\ 4 \overline{) 844} \\ \underline{8} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 0 \phantom{00} \end{array}$$

⑧

$$\begin{array}{r} 9 \\ 21 \overline{) 194} \\ \underline{189} \\ 5 \end{array}$$

⑨

$$\begin{array}{r} 21 \\ 14 \overline{) 294} \\ \underline{28} \phantom{00} \\ 14 \phantom{00} \\ \underline{14} \phantom{00} \\ 0 \phantom{00} \end{array}$$

①

$$\begin{array}{r} 9 \\ 62 \overline{) 611} \\ \underline{558} \\ 53 \end{array}$$

②

$$\begin{array}{r} 6 \\ 99 \overline{) 687} \\ \underline{594} \\ 93 \end{array}$$

③

$$\begin{array}{r} 111 \\ 9 \overline{) 999} \\ \underline{9} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

④

$$\begin{array}{r} 123 \\ 8 \overline{) 987} \\ \underline{8} \\ 18 \\ \underline{16} \\ 27 \\ \underline{24} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 76 \\ 3 \overline{) 229} \\ \underline{21} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 80 \\ 2 \overline{) 161} \\ \underline{16} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 139 \\ 5 \overline{) 698} \\ \underline{5} \\ 19 \\ \underline{15} \\ 48 \\ \underline{45} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 9 \\ 94 \overline{) 881} \\ \underline{846} \\ 35 \end{array}$$

⑨

$$\begin{array}{r} 160 \\ 3 \overline{) 482} \\ \underline{3} \\ 18 \\ \underline{18} \\ 2 \end{array}$$

①

$$\begin{array}{r} 122 \\ 4 \overline{) 490} \\ \underline{4} \phantom{0} \\ 9 \phantom{0} \\ \underline{8} \phantom{0} \\ 10 \\ \underline{8} \\ 2 \end{array}$$

②

$$\begin{array}{r} 5 \\ 22 \overline{) 119} \\ \underline{11} \phantom{0} \\ 9 \end{array}$$

③

$$\begin{array}{r} 111 \\ 6 \overline{) 668} \\ \underline{6} \phantom{0} \\ 6 \phantom{0} \\ \underline{6} \phantom{0} \\ 8 \\ \underline{6} \\ 2 \end{array}$$

④

$$\begin{array}{r} 134 \\ 7 \overline{) 943} \\ \underline{7} \phantom{0} \\ 24 \phantom{0} \\ \underline{21} \phantom{0} \\ 33 \\ \underline{28} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 4 \\ 97 \overline{) 388} \\ \underline{38} \phantom{0} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 111 \\ 5 \overline{) 556} \\ \underline{5} \phantom{0} \\ 5 \phantom{0} \\ \underline{5} \phantom{0} \\ 6 \\ \underline{5} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 111 \\ 7 \overline{) 777} \\ \underline{7} \phantom{0} \\ 7 \phantom{0} \\ \underline{7} \phantom{0} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 39 \\ 4 \overline{) 158} \\ \underline{12} \phantom{0} \\ 38 \\ \underline{36} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 20 \\ 5 \overline{) 104} \\ \underline{10} \phantom{0} \\ 4 \end{array}$$

①

$$\begin{array}{r} 50 \\ 12 \overline{)607} \\ \underline{60} \phantom{0} \\ 7 \end{array}$$

②

$$\begin{array}{r} 5 \\ 37 \overline{)214} \\ \underline{185} \\ 29 \end{array}$$

③

$$\begin{array}{r} 7 \\ 84 \overline{)640} \\ \underline{588} \\ 52 \end{array}$$

④

$$\begin{array}{r} 69 \\ 3 \overline{)208} \\ \underline{18} \phantom{0} \\ 28 \\ \underline{27} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 6 \\ 32 \overline{)200} \\ \underline{192} \\ 8 \end{array}$$

⑥

$$\begin{array}{r} 136 \\ 5 \overline{)683} \\ \underline{5} \phantom{00} \\ 18 \\ \underline{15} \\ 33 \\ \underline{30} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 111 \\ 5 \overline{)559} \\ \underline{5} \phantom{00} \\ 5 \\ \underline{5} \\ 9 \\ \underline{5} \\ 4 \end{array}$$

⑧

$$\begin{array}{r} 139 \\ 7 \overline{)977} \\ \underline{7} \phantom{00} \\ 27 \\ \underline{21} \\ 67 \\ \underline{63} \\ 4 \end{array}$$

⑨

$$\begin{array}{r} 149 \\ 4 \overline{)597} \\ \underline{4} \phantom{00} \\ 19 \\ \underline{16} \\ 37 \\ \underline{36} \\ 1 \end{array}$$

①

$$\begin{array}{r} 27 \\ 5 \overline{) 138} \\ \underline{10} \phantom{0} \\ 38 \\ \underline{35} \\ 3 \end{array}$$

②

$$\begin{array}{r} 3 \\ 38 \overline{) 121} \\ \underline{114} \\ 7 \end{array}$$

③

$$\begin{array}{r} 9 \\ 92 \overline{) 828} \\ \underline{828} \\ 0 \end{array}$$

④

$$\begin{array}{r} 6 \\ 35 \overline{) 229} \\ \underline{210} \\ 19 \end{array}$$

⑤

$$\begin{array}{r} 5 \\ 75 \overline{) 375} \\ \underline{375} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 13 \\ 28 \overline{) 365} \\ \underline{28} \phantom{0} \\ 85 \\ \underline{84} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 342 \\ 2 \overline{) 685} \\ \underline{6} \phantom{0} \\ 8 \\ 8 \\ \underline{\phantom{0}} \\ 5 \\ 4 \\ \underline{\phantom{0}} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 111 \\ 7 \overline{) 782} \\ \underline{7} \phantom{0} \\ 8 \\ 7 \\ \underline{\phantom{0}} \\ 12 \\ 7 \\ \underline{\phantom{0}} \\ 5 \end{array}$$

⑨

$$\begin{array}{r} 85 \\ 2 \overline{) 171} \\ \underline{16} \phantom{0} \\ 11 \\ 10 \\ \underline{\phantom{0}} \\ 1 \end{array}$$

①

$$\begin{array}{r} 10 \\ 22 \overline{) 224} \\ \underline{22} \phantom{0} \\ 4 \phantom{0} \end{array}$$

②

$$\begin{array}{r} 293 \\ 3 \overline{) 880} \\ \underline{6} \phantom{00} \\ 28 \phantom{0} \\ \underline{27} \phantom{0} \\ 10 \phantom{0} \\ \phantom{0} 9 \phantom{0} \\ \underline{\phantom{0} 9} \phantom{0} \\ 1 \phantom{0} \end{array}$$

③

$$\begin{array}{r} 66 \\ 2 \overline{) 133} \\ \underline{12} \phantom{0} \\ 13 \phantom{0} \\ \underline{12} \phantom{0} \\ 1 \phantom{0} \end{array}$$

④

$$\begin{array}{r} 2 \\ 77 \overline{) 154} \\ \underline{154} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 3 \\ 78 \overline{) 243} \\ \underline{234} \\ 9 \end{array}$$

⑥

$$\begin{array}{r} 40 \\ 24 \overline{) 975} \\ \underline{96} \phantom{0} \\ 15 \phantom{0} \end{array}$$

⑦

$$\begin{array}{r} 40 \\ 16 \overline{) 640} \\ \underline{64} \phantom{0} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 409 \\ 2 \overline{) 818} \\ \underline{8} \phantom{00} \\ 18 \phantom{0} \\ \underline{18} \phantom{0} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 9 \\ 29 \overline{) 269} \\ \underline{261} \\ 8 \end{array}$$

①

$$\begin{array}{r} 8 \\ 91 \overline{) 805} \\ \underline{728} \\ 77 \end{array}$$

②

$$\begin{array}{r} 232 \\ 3 \overline{) 698} \\ \underline{6} \\ 9 \\ \underline{9} \\ 8 \\ \underline{6} \\ 2 \end{array}$$

③

$$\begin{array}{r} 47 \\ 11 \overline{) 523} \\ \underline{44} \\ 83 \\ \underline{77} \\ 6 \end{array}$$

④

$$\begin{array}{r} 8 \\ 64 \overline{) 546} \\ \underline{512} \\ 34 \end{array}$$

⑤

$$\begin{array}{r} 241 \\ 2 \overline{) 482} \\ \underline{4} \\ 8 \\ \underline{8} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 431 \\ 2 \overline{) 863} \\ \underline{8} \\ 6 \\ \underline{6} \\ 3 \\ \underline{2} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 98 \\ 9 \overline{) 885} \\ \underline{81} \\ 75 \\ \underline{72} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 40 \\ 7 \overline{) 280} \\ \underline{28} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 26 \\ 5 \overline{) 133} \\ \underline{10} \\ 33 \\ \underline{30} \\ 3 \end{array}$$